Year 1: Challenge Activities (optional)
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Add by Counting On

Reasoning and Problem Solving

Use the diagram and counters to tell your = Children can come Ron starts at 9 and adds on 5
own number story for these calculations: | up with a range of Alex starts at 5 and adds on 9

contexts where Show their calculations on the number

0+12=
B 898e R
Ye -7 amount that is What do you notice? Does this always
increasing. Using happen?
‘First, then and

Now

First Then
D D now' they describe Which method do you like best? Why?
it

>

R R R IEI3311EEE]
Jackis correct as

Mo and Jack are working out 11+ 7
he has counted on ciisviirisenuBREeTERD

Mo says,
7 steps from 11
Mo has incorrectly

included 11 when

Jack says, counting.
@ 12,13,14,15,16, 17,18

Use a number line to show who is correct.
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Both children end
on 14

This is because
9+5is
equivalent to
5+9

The children can
explore their own
calculations to
understand that
addition is always
commutative.
They see that
Ron's method is
quicker because
there is less to
count on.

#_ Add notes
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Add by Making 10

Reasoning and Problem Solving

'] Pageview | A Read aloud

* x Loe
J_ Addrnotes &

Teddy and Eva are adding together 7
and 8 using a number line.

Teddy shows it this way:

Eva shows it this way:

Who is correct?
Explain your answer.

They are both
correct because
addition is
commutative and
the answer to both
calculations is 15

Teddy has started
with 7 and
partitioned the 8
into 3 and 5 to
make 10

Eva has started
with 8 and
partitioned the 7
into 2.and 5 to
make 10

Dexter uses ten frames to calculate eight

plus six.
£33 e
00000
He says, ©

Do you agree?
Explain why.

Annie is calculating 8 + 6
6 8 +

Which of these methods is most helpful?
REtS
8

®
©+6 (éaéé

Dexter is wrong
because the
answer should be
14. He should have
filled the first ten
frame before
starting a second
one.

Partitioning the 6
into 4 and 2 is
helpful as 8 and 2
make 10

Partitioning the 8
into 4 and 4 is
helpful as 6 and 4
make 10
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Related Facts

Reasoning and Problem Solving

Use the cards to write as many addition Children can use Circle the addition and subtraction 15+3=18
and subtraction sentences as you can. the words to number sentences that match the ten 18—-15=3
create sentences frames. 18-3=15

18=3 +15
a@ Possible answers: DDDDD
Nine add ten i
equal o ninteen 00000

Nine is equal to DDDDD
nineteen subtract DDD..

ten.
) 15+3=18 15-3=18
nine add
3+18=15 18-15=3
en subtract 18+3=15 18-3=15
nineteen is equal to 18=3+15 15-18=3





